b AN

TZAR)-NAALT=T7 v

20213 A 1A
B

wH )= Px 7K K 1A + H
Ba—~ Ad—hr ]| Ba—-+r] A=+ | BaI—-Fr[AJ—-+] Ba—-+| AD—F|Ba—-r[ ATd—=F BZ—F| AD—F ]| Ba—r] Aa—F
625 | Zgebdk | 7:00 [zmig] 6:25 Pl
M1 M1]| ~ ~ ~
7:55 T 755 | A 7:55 PSP
- - gol+L vyl Ly R [ 20— |FLoY
900 | H& &R FRRS AR R ST dbA
300 [ 273
900 | W% | Rk % Pl 118 s fﬁ F#k k| Rk | Rk 910 | th 4% | #09#k ik L
A ~ 350 Al ~
1030 |HA XM KB K& TTH TH &8 10~_35 j?fé PNG= Ha Ha dbN| K& B 1040 AT EEF| B B #AK XA RS AeR
' T040 [z
o6 | oykig | ok | AR | R | RER | o | R | - ] AR | R 1050) e | ik Loc | Ak | AR
B ~ IR T B | ~
e e I EE T R EEREN I B L T ool BalmEs co|ex B 2@
' 275 (50
2o | g | eRaR | PR | U T| Wk | ki | PR | R | e | - | || k| o | B | EeeT
C ~ 315 | c| ~
woo | BE | xE welxm wx| Bl ma| xe8 | =zs #k W |~ ‘iijf ool E | e smlvm |y
, 405 | PV '
1405 | e L < B e i il & LD e L0l iR | Pk ik RH%
- 450 [PV 1405 EETRN ~
D — 15:35 | TTH | 15:30 [T : 14:45 — \ — D = — —
15:35 SRS HE 15:40 TTH Hh=F %ggg sk TTH BS SHhsT RS 1540177 | BLE B s &M
540 [ ol 15:40 |4 — 15;40 15:40 [+,4° — 15:40 [2v4° =
to00 | g | 5, [ o o o ] T R e R | I T PR T
E| ~ 1630 [y 16:30 [avz | 16:30 | ok [Te30 faumn] 16:30 | bk Ko 3o mdl £ | ~
17:30 MIT 17:30 ?j[é 1730] 5 | 1730 T%Iﬁ 17:30 j@ 1730 55% T Tl B AR T 1730 ﬁﬁ 1720\7TH K| BEE | 1TH HE R
US N T =N FLrD| T = FLo2 | TU=|FL2P| T )= Ly R |[TU=>FL>Y WY = Ly R |FLr2| Ly R
T ~ T~
18:35 R | EBA oo ST BT TH B JRSE BT Ha s KEFhSE UM BEE AN 18308 E TH|BES e pEE TR BES 2%
1840 1 IS1 | bk | PER | A0RER | ADRER | UrS2 JrS1 PR rS2 JrS1 1840l Jrs2 ik Rk (1840170~
Fl ~ Fl ~ ~
o0:10 AL &8 kot BE SPRT FAN PSR Mot BEE A TH B fhoT| hsF dewt 2010 £ dbwt B TH 19:40 | £
o0 | g |wewc| oe@ | oe | o5 | xcoc| w@ | oem | am | o9 e _
G ~ G| ~
2150 DL &8 ShRT N: SRT FoT SRT A KB TH kot B 21500  1TH B B E
22:00 thik th Fig = 22:00 ik
N ~ N _
23:30 B E TTE At FkoT 23:30 TTH




